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(-3)-5= (-10) — 1=
(8 -9~ (10 ~(-5) =
(=5)° +(~10) = 9> —(~1)=
ST -6- (87 + (1) =
42— (-1 = (12 —3=
902 —(—6) = 3D 4o =
(-2)" +8= § +(~10) =
(-2 = (-9) = (=5)° + (—6) =
10> +9 = (-10)—2 =
-7 -8= (-6) 2 +8 =
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(-3)-5=(-8) (1077 = 1= (50
(—8)* —9=55 (—10)> — (-=5) = 105
(—5)* + (-10) = 15 9% —(—-1)=82
D _go 2t PN SN NP
5 6=(5)=(53) 8 D=2 =C1g)
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4 (== 1o (-1)? =3 =(-2)
902 — (—6) = %7 = 68% 3V 4= % = zé
(—2)*+8=12 8% +(—10) = 54
(-2)° = (-9) =13 (=5)" +(=6) = (-5)
10> +9=109 (—10) —2 = (—12)
. 289 1
-7)° —8=(-7) (~0) +8= = =8
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